

### FFICE OF DEPUTY CONSERVATOR OFFOREST, BHARATPUR

Name of project: "Diversion of Forest Land Pahadpur Block A&B For Mining purpose.

Proposal NO.: FP/RJ/MIN/149012/2021

#### "SCHEME FOR COMPENSATORY AFFORESTATION"

Details of CA Scheme for 119 ha. for compensatory afforestation to be carried out in lieu of 189.2515 ha. of forest area to be diverted for "Diversion of Forest Land Pahadpur Block A&B For Mining purpose.

#### Details of degraded forest land:-

District – Bharatpur,

Name of forest division - DCF Bharatpur\_

Name od Range - Kaman

Forest Block/compartment no - Kankanchal parvat

Afforested - 119 ha.

- I) Whether the site selected for compensatory afforestation is a land bank or not: no\_
- II) If the CA site is other than the land bank, reasons be given: There is no land bank established.
- III) In case of non forest area indentified for CA, then what is the distance of CA site from the adjoining forest boundary:- Nil
- IV) Soil type: Rocky
- V) Topography:
  - (a)Hilly/undulating/plain: Undulating
  - (b)slope:steep/medium/gentle: Gentle slope
- VI) Whether the area is bearing any root stock of vegetation: yes
- 2. Plantation Model:- Copy of the approved CA Scheme/Model showing component wise physical and financial break up to be enclosed

# 3. Schedule of Plantation Programme:-

Details of year wise break up of requirements of funds is as

		equirements of funds	is as under:-
Year	Area in ha.	Rate /ha.	Amount (in Ruppees)
0 <sup>th</sup> year	119	55482	
1 <sup>st</sup> year	119	65545	6602358
2 <sup>nd</sup> year	119	18873	7799855 2245887
3 <sup>rd</sup> year	119	5816	692104
4 <sup>th</sup> year	119	5816	692104
5 <sup>th</sup> year	119	5816	692104
6 <sup>th</sup> year	119	5816	692104
7 <sup>th</sup> year	119	5816	692104
8 <sup>th</sup> year	119	5816	692104
9 <sup>th</sup> year	119	5816	692104
10 <sup>th</sup> year	119	5816	692104
11 <sup>th</sup> year	119	5816	692104
12 <sup>th</sup> year	119	5816	692104
Total		198061	23569140

#### 4. Technical details:-

Technical details of Compensatory Afforestation Scheme are as follows:-

(a) General details: The area is a degraded forest land. Scheme is prepared for 119 Ha. on Forest land.

Reason:- 5 Times Area has been taken in the refrence point no 2 of Letter no Dated 24-08-2022 of Ministry of Environment, Forest and Climate changes of India.

23,800 Plants will be planted

(b) Spacing: 3x3 Meter

- (c) Species: Acacia Nilotica, Acacia Tortilis, Ziziphus Jujube, Acacia leucophloea
- (d) Plantation method: Manual
- (e) Soil and Moisture conservation works: As per model
- (f) Protection (Fencing, Watch man, People's Participation etc.): As per model Proposed Monitoring Mechanism: - 2 Guard for every 50 ha. will deputed for supervision
- (g) Maps of area of CA Scheme has been attached.
- (h) Any other information Nill

(Signature)

(Ravi Meena)

# FFICE OF DEPUTY CONSERVATOR OFFOREST, BHARATPUR

Name of project:- "Diversion of Forest Land Pahadpur Block A&B For Mining purpose.

Proposal NO.:- FP/RJ/MIN/149012/2021

# "SCHEME FOR COMPENSATORY AFFORESTATION"

Details of CA Scheme for 156 ha. for compensatory afforestation to be carried out in lieu of 189.2515 ha. of forest area to be diverted for "Diversion of Forest Land Pahadpur Block A&B For Mining purpose.

#### Details of degraded forest land:-

District - Bharatpur,

Name of forest division - DCF Bharatpur\_

Name of Range - Deeg

Forest Block/compartment no - Aadibadri parvat

Afforested – 156 ha.

- I) Whether the site selected for compensatory afforestation is a land bank or not: no\_
- II) If the CA site is other than the land bank, reasons be given: There is no land bank established.
- III) In case of non forest area indentified for CA, then what is the distance of CA site from the adjoining forest boundary:- Nil
- IV) Soil type: Rocky
- V) Topography:
  - (a)Hilly/undulating/plain: Undulating
  - (b)slope:steep/medium/gentle: Gentle slope
- VI) Whether the area is bearing any root stock of vegetation: yes
- 2. Plantation Model:- Copy of the approved CA Scheme/Model showing component wise physical and financial break up to be enclosed

# 3. Schedule of Plantation Programme:-

Details of year wise break up of requirements of funds is as under:-

Year	Area in ha.	Rate /ha.	Amount (in Ruppees)
th year	156	55482	8655192
st year	156	65545	10225020
nd year	156	18873	2944188
rd year	156	5816	907296
th year	156	5816	907296
th year	156	5816	907296
th year	156	5816	907296
h year	156	5816	907296
	156	5816	907296
h year	156	5816	907296
th year	156	5816	907296
o <sup>th</sup> year	156	5816	907296
I <sup>th</sup> year	156	5816	907296
2 <sup>th</sup> year Total	130	198061	30897360

### 4. Technical details:-

Technical details of Compensatory Afforestation Scheme are as follows:-

(a) General details: The area is a degraded forest land. Scheme is prepared for 156 Ha. on Forest land.

Reason: - 5 Times Area has been taken in the refrence point no 2 of Letter no Dated 24-08-2022 of Ministry of Environment, Forest and Climate changes of India.

- 31,200 Plants will be planted.
- (c) Species: Acacia Nilotica, Acacia Tortilis, Ziziphus Jujube, Acacia leucophloea etc.
- (d) Plantation method: Manual
- (e) Soil and Moisture conservation works: As per model
- (f) Protection (Fencing, Watch man, People's Participation etc.): As per model Proposed Monitoring Mechanism: - 2 Guard for every 50 ha. will deputed for supervision
- (g) Maps of area of CA Scheme has been attached.
- (h) Any other information Nill

(Ravi Meena)

# OFFICE OF DEPUTY CONSERVATOR OFFOREST, BHARATPUR

Name of project: "Diversion of Forest Land Pahadpur Block A&B For Mining purpose.

Proposal NO.:- FP/RJ/MIN/149012/2021

#### "SCHEME FOR COMPENSATORY AFFORESTATION"

Details of CA Scheme for 249 ha. for compensatory afforestation to be carried out in lieu of 189.2515 ha. of forest area to be diverted for "Diversion of Forest Land Pahadpur Block A&B For Mining purpose.

#### Details of degraded forest land:-

District - Bharatpur,

Name of forest division - DCF Bharatpur\_

Name od Range - Kaman

Forest Block/compartment no - Kankanchal parvat

Afforested – 249 ha.

- I) Whether the site selected for compensatory afforestation is a land bank or not:\_no\_
- II) If the CA site is other than the land bank, reasons be given: There is no land bank established.
- III) In case of non forest area indentified for CA, then what is the distance of CA site from the adjoining forest boundary:- Nil
- IV) Soil type: Rocky
- V) Topography:
  - (a)Hilly/undulating/plain: Undulating
  - (b)slope:steep/medium/gentle: Gentle slope
- VI) Whether the area is bearing any root stock of vegetation: yes
- 2. Plantation Model:- Copy of the approved CA Scheme/Model showing component wise physical and financial break up to be enclosed

#### 4

### 3. Schedule of Plantation Programme:-

Details of year wise break up of requirements of funds is as under:-

		10111010	as is as under:-	
Year	Area in ha.	Rate /ha.	Amount (in Ruppees)	
0 <sup>th</sup> year	249	55482	13815018	
1 <sup>st</sup> year	249	65545		
2 <sup>nd</sup> year	249	18873	16320705	
3 <sup>rd</sup> year	249	5816	4699377	
4 <sup>th</sup> year	249	5816	1448184	
5 <sup>th</sup> year	249	5816	1448184	
6 <sup>th</sup> year	249	5816	1448184	
7 <sup>th</sup> year	249	5816	4.440.4.0.4	
8 <sup>th</sup> year	249	5816	1448184 •	
9 <sup>th</sup> year	249	5816	1448184	
10 <sup>th</sup> year	249	5816	1448184	
11 <sup>th</sup> year	249	5816	1448184	
12 <sup>th</sup> year	249	5816	1448184	
Total	,	198061	49316940	

#### 4. Technical details:-

Technical details of Compensatory Afforestation Scheme are as follows:-

(a) General details: The area is a degraded forest land. Scheme is prepared for 249 Ha. on Forest land.

Reason:- 5 Times Area has been taken in the refrence point no 2 of Letter no Dated 24-08-2022 of Ministry of Environment, Forest and Climate changes of India.

49,800 Plants will be planted.

- (b) Spacing: 3x3 Meter
- (c) Species: Acacia Nilotica, Acacia Tortilis, Ziziphus Jujube, Acacia leucophloea etc.
- (d) Plantation method: Manual
- (e) Soil and Moisture conservation works: As per model
- (f) Protection (Fencing, Watch man, People's Participation etc.): As per model Proposed Monitoring Mechanism:- 2 Guard for every 50 ha. will deputed for supervision
- (g) Maps of area of CA Scheme has been attached.
- (h) Any other information Nill

(Signature)

(Ravi Meena)



# FICE OF DEPUTY CONSERVATOR OFFOREST, BHARATPUR

Name of project: "Diversion of Forest Land Pahadpur Block A&B For Mining purpose.

Proposal NO.:- FP/RJ/MIN/149012/2021

# "SCHEME FOR COMPENSATORY AFFORESTATION"

Details of CA Scheme for 424 ha. for compensatory afforestation to be carried out in lieu of 189.2515 ha. of forest area to be diverted for "Diversion of Forest Land Pahadpur Block A&B For Mining purpose.

### Details of degraded forest land:-

District - Bharatpur,

Name of forest division - DCF Bharatpur\_

Name od Range - Kaman

Forest Block/compartment no - Kankanchal parvat

Afforested - 424 ha.

- I) Whether the site selected for compensatory afforestation is a land bank or
- II) If the CA site is other than the land bank, reasons be given: There is no land
- III) In case of non forest area indentified for CA, then what is the distance of CA site from the adjoining forest boundary:- Nil
- IV) Soil type: Rocky
- V) Topography:
  - (a)Hilly/undulating/plain: Undulating
  - (b)slope:steep/medium/gentle: Gentle slope
- VI) Whether the area is bearing any root stock of vegetation: yes
- 2. Plantation Model: Copy of the approved CA Scheme/Model showing component wise physical and financial break up to be enclosed

# 3. Schedule of Plantation Programme:

Details of year wise break up of requirements of funds is as under:

Year	Area in ha.	Rate /ha.	Amount (in Ruppees)
0 <sup>th</sup> year	424	55482	23524368
1 <sup>st</sup> year	424	65545	27791080
2 <sup>nd</sup> year	424	18873	8002152
3 <sup>rd</sup> year	424	5816	2465984
4 <sup>th</sup> year	424	5816	2465984
5 <sup>th</sup> year	424	5816	2465984
6 <sup>th</sup> year	424	5816	2465984
7 <sup>th</sup> year	424	5816	2465984
8 <sup>th</sup> year	424	5816	2465984
9 <sup>th</sup> year	424	5816	2465984
10 <sup>th</sup> year	424	5816	2465984
11 <sup>th</sup> year	424	5816	2465984
12 <sup>th</sup> year	424	5816	2465984
Total		198061	83977440

#### 4. Technical details:-

Technical details of Compensatory Afforestation Scheme are as follows:-

(a) General details: The area is a degraded forest land. Scheme is prepared for 424 Ha. on Forest land.

Reason: 5 Times Area has been taken in the refrence point no 2 of Letter no Dated 24-08-2022 of Ministry of Environment, Forest and Climate changes of India.

84,800 Plants will be planted

- (c) Species: Acacia Nilotica, Acacia Tortilis, Ziziphus Jujube, Acacia leucophloea
- (d) Plantation method: Manual
- (e) Soil and Moisture conservation works: As per model
- (f) Protection (Fencing, Watch man, People's Participation etc.): As per model Proposed Monitoring Mechanism: - 2 Guard for every 50 ha. will deputed for supervision
- (g) Maps of area of CA Scheme has been attached.
- (h) Any other information Nill

(Signati

(Ravi Meena)